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            Example  : What  per cent is 1 5 0 0 gems of 

           2 kgs ? 

       We will  fill out  -- what percent is 1 5 0 0 gems 

      Working  : 1 5 0 0 / 2 0 0 0 gms × 1 0 0 

                         = 1 5 0 0 / 2 0 0 0 × 1 0 0 = 7 5 % 

Find  the percent : 

Example  : 1 5 percent of a ₹ 1 0 0 , 1 5 / 100 × = 15 

                     1 5 % 

a. 25 p of a Re.                  b. 6 0 p of a ₹  2 

c.7 5 cm of  a . m.             d. 2 5 0 m of a km 

e. 5 0 0 gms of a kg           f. 2 5 0 ml of a liter 

                                     ******* 


